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{Q. Nos. 1 to 100)
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{1)
(2}
13}
14)
15)
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(7
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SHADE the correct alternatives in the OMR Answer Sheet provided, from
amongst the ones given against the corresponding guestions in the

Physics
Chemistry
Biclogy
Mathematics
History
Geography
Political Science

Ecanomics

13 Questions
13 Questions
14 Questions
20 Questions
12 Questions
12 Questions
08 Questions

08 Cuestions
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13 Marks
14 Marks
20 Marks
12 Marks
12 Marks
08 Marks
08 Marks

Question Booklet, For shading the circles, use a HE pencil.



PHYSICS

Match the following

List— P Lizt—0Q
&, ljpule 1. 4185
B.  1WH 2. Yew1pt)
S T 310 args
0 1 galgris 4 16kl

The correct match is
(1 A-4,8-3,C 1, 0-2

i3] A-1, B-3, C.4, p-2

(20jA-3, B-4, .2, D-]
(4 A-2, B-1, C-4, N-3

sk || 5

Assertion (&) : The velocity of 3 particlc may
vary even when it's speed is constant.

Reason {R} : The particle is mowlng in circular
path,

10§ Both (A} and (R) are rue and [R) is correc
splanation ko {A}._ .

2} Both (A) and [R) are true, but {B) is not
Correct explanation 10 {4,

(31 (A} i true, but (R] is False.
{3 {A] is false, but [R] i5 true.

o P=L B

A convex lens of focal length 20 em s eyl nta |
twa halves. Each of whichis placed 9 5§ mm and
4 point object plaved at a distanee af 30 om
from the lens as shown.

/\
V

Then the imags s at

(1) S0 cm (2} 30 cm
:ar M} 70 e

Question Id : 3

Which of the following graph represents non-
unifarm acceleration ?

SEEE § @2t
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T
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i3] i4] i
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e a g

Assertion (A} : Waork dore by gravitanonal

force in @ moving body path is independent.

Reason |R] Gravitadonal force is  non-

contereative force.

1) Eoth {A) and (P} are true and (R} is correct
a¥planation to [A).

(21 Both {A] and (R} are true, but [R] is not
correct explanation ko {A).

(3 Abis wue, bt (R) is false. |

14} [A}is false, but (R} is true.

TS Iy IR

40 | oan 41‘5]4:

LLamarin £

L

==

i
| i
| !

J
]

Find the current flowing throogh the abowe

Circuik,
i 0374 4 {1
i3 373 n (4 3.75 A

e L
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tatch Lhe following .
Mearsas ol Lhwe Flanet

,
Grani Latlog mfs

A iar:h

i Iut=-

v Gatuin

1", dhars |

A4, B-2,C-3,0-1 12 A3 B-2, -1, 04
M A2, B-1 C-3,D-4 M'lna. B-1, C-4, Dé'

~havanh T I

Bulb M marked as 100 W, 220 v and Lbulk '-'.'_ll
marked as 60 W, 110 V. The resistance ratio of

Fand (1 s

(21 512
(3 12:7 ) 5.7 |
AL LnE B
X X X
.-";_?T 'dt
/s
0
i '
4 /v K |
l.f;/ .
v
7/
VA |
X bt X |

As per the abowe figure

1) Electric current flows alang the rod from A
to B.

1Z) The rod &B iy unilormly charged.

charged.

(3]'ThE' end "A" of the rod becomes IJGEiﬁ'H'E!'.-'r

= rmee n i T

——

(4] The end “B" of the rod becornes charged. |
(ICERTTLE I

& person fired a gun standing at a distance of
S5 m fram o wal If the speed of saund s 330
rnys, the time for an echo heard iz

([ 2y 0.45
(3% 0.55 (8) 0.6s

L+Laabkl I

. The radius of curvature of 2 plano-convex lens

ife

whickh has 2 refractive index is 20 cm. By
applying Siver Bromide on its surface to
thange it as a concave mirros, what is the tocal
length of the formed mirrar ?

[1 121 2G o

[31 1Gcm 4] 40 em

e Mo

Identify the following colauss in the ascending
orders af their frequencies.
[1} Red. blue, yellow, gresen

(2] Blue, green, yellow, red

(3t Red, green, vallow blue
[AtfRed, yellow,

green, blug '

e — Gueniy b1
A point object s placed at a distance of 10 ocm
ahd its real image 15 farmed at a distance of 20
o [rorn a concave mireon When t1e object is
mgwed by 0.1 cm kowards the mirror, then the

imnage will be migved by about

[1I'| 0.4 cr away from the mirrar '

(2] Q.4 ¢ towards the mirrar

(3] 0.8 cn avway from the mirrar

[4] 0.8 cm towards the mirror

[F PRI |
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CHEMISTRY

The allowable rcombinatons of guantom
rurmbers for each of the electron n 45, 3p, 5d
orbitals respectively

i n=4,,;=0 ;- +L;, n=3, =25,
n, = =% =3 - 0 |

2k n=4,1=0, m, O.n=3 /=4 wm - -1

;n=50=3 m = 2

s 1

Bfn=4, =0, 1, — &n-3, F=Lm, = 0;
=3, f=2% oy =-1 ;

_.--;_-trﬁ"' I

:‘1]n='q',|.lr=n,| n1.|=[|';n=3.-.|'=[}_|l'l]|—cljl
n=S /=1, =1l

Lismhn bl 1 |

Find the correct increasing order of lonic radius
amaong

AIS* Mgt 0% F
LVE o Mgt < APt < 0%
A Mgt
AP Mg2* }“‘_@

@ At Mgttt o 09 o F

wrnamnks o

(34

Set of elements with the fellowing atomic
rurnpars belehgs 1o the same group

i1} 3, 16, 35, 3 mllz, 20,4 38 I
Bk 11,19, 27,5 4} 24,47, 42 55

fap=n oW 10

The elerments 4, B, © and I have atormnic

numbers . 10, 11 and 12 respeclively, The |

correct order of ignization energy 1s
) AzBE=C»D ZfB>A>D>C|

N B-A=C>D M D=-CxB=A

1hamlmrd

[ 2 0% <« Al |

Ar atorm ‘A’ belongs to Il A group and another
atorr "B” balgngs to ¥ A group. The formula of
the compound formed s

M AR, 2 ALB
3) W A4B,

o Liodzrh 4

‘0. Find the correct matching
Bond Band Energy
k. 1fmu

a4 H-F 1 13
B Br-Br 2 g6
C H 3. 432
C +-Br 4 d 36

[ a-3, B-1, c-3,_D-1] (20 a-2, B-3, -4, D-1

{3 A4 B3 C-1,0-2 4 A3 B4, €-2,D-1
Sprdmn i 0

FUPAD MName of
0

I
CH;-C-0C-COOH

I

il

(1) 3-3 diethyl Butare
12) Z-Hydrosy - 2 Methy| - Butane

1398 3«Hydroooy - 3 Methyl - Butanow acid

=

4] 3-Ethyl - 2 Mcthyl - Propane

A 3 r
o F e
! e
e ﬂ_ﬂﬁ
(R} Af Fe in

If we adeled FESD-+ trr abowe four test tubes,

in which test tube we observe black residue ?
11 "&" and *B8" 2y “A" and *L*

(3] "B" and "C” 143'“5" and_"l'.'._l'"l

Ne-bzve M
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From 1he above experimental setup, what
orecipitale we obtain and what is the colour of
obtained precipiate ¢

[l ead lodide - Yellow

2] Potasswm Mitrate - Yellow |
13} Lead lodide - Red |

(4} Potassiurm Mitrate - Red

et =Y RN TR
Fing the compasition of Stainless Steel.
el ) Fe, N, Cu
(3} Fe, Cr, Cu {a} Fe, €, Ni

Elertro-negativity of the following elements |
increasa in the order
) C, N %, P

|
2 M, Si, ¢, F

(30 s 1O, M () P &SI, N, T
HT T O R |
FAateh the followng
List — P List — 1
. Ethape Tencatbors
Etaglere fi s cartens

ACERVIENE *em? carkans

tgoTy O

Bensoeri-

= Llu 1Jd

o 50 carbons |

The carrect answer is

i3 B4, C1, D2 @) A4, B-3,C1. 02
() A7, B-3,C-1,04 4 A-3, B2 C4, D1

Netwnil 7

Agsartion [A) © Isoropes are electrically neutral

Reason [R) : [sotopes are species wilh same

mass humber bt different atomic number.

1] Both {&) and {BY are trug and (B] i5 the
rarrect exglanabtion ta (AL

(2] Baoth (A) and [R) are true, but {R} is oot the
carrect explanation ta (&)

(3!Fﬂ| is true, but (R) Is false.

P i R
14) ’II[."-"L] is false but {R) 15 true.

Iz L1 5
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gBlOLOGY

In a Ywing cell the fluid present inside the
Mucleus ca'led as

1] Cytoplasm {21 Protoplasm

(4 ‘N ucieon|anm

The scientfic namsa of
sapiens”. In this The word “Sapiensy” represents

{2} Cndoslasm

Lz madl &5

Human is

{i‘r (21 Geners
(3 Class (1) Farmby

o= bl 1
In  animal kingdam, the first organism
possessing back bones ;
(15 Amphibians 111
(3] Awes (4} Reptiles

b=kl MO
In buman eye, the cornea formed fram
(1 12) Choroid
{31 Retina (9} Iris

Linghsik] T

One of the following digestive juices which
Conkains No enzyme ;
(1l Armylase

IF you thine chest cawity is a room, in this the
dizphragm may be

[Z} Lipase
MY Trypsin

daabmd I

{1} Boaf :1:|
(2 walls (4} \Windows

ekl 15

The enzyrme thrombokinase released by
{1} Red blood cells 2} White blood celbs

(3 Plasma 4] {Platelets

TR (|

“*Homa | -

. Match the itern in Column - | with Column - 1

Lolurmmn -1 Celymn
I ETTY AR TR TSI P O T T 1 Ieann
B aprealy Dooic Lo Bigbenal 200 S
Planls S 1@ lian 3. kel ol "aees
[v Anmnals Seveebzm A, LLEn

wlaa 1 c-4 02| 2 a1, B3, -2, D-4

12} A-2, B-1,C-3, 04 4] A4, 8.2 C-1,0-3

Mades of Ranyier absent in
i1 Mylenated Neurens

12} Sensory Neurons

(3} tdotor Neurons

{4) ‘I"-.I oh-Mylenated Meurons I

W 1 1%

. Parthenogeanesis is

[ll'.ﬂlsexuﬂ Reproductian I

12] Sexual Reproduction

{31 Arficial Propagation

(4} Matural Propagation

Teeeawikl T

. The harrgng "Ghrelin” is secreted by

{1] f\alh of the Stomach

[Z2F wall of the Intestine
13) wall of the Esophagus
141 Salivary Glands

LAt 17
Onc of the tollowing 15 not related o “Pea”
plant .

(1] Presence of bisexual flowers

[Ihllt is a bignnial plant I

(3 1t prefers self ferdhization,

{4] It has well defined characters.
R T N k]
Frological pyramid was first introduced by

[2} wWilliam Elton
4 Mendel

(1) Darwan

=wnl- H



40. Find gut the Redewable Resource
11 Ceal 2] Petrol

:3: 14} Natural Gas

Questionld: 40 |
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MATHEMATICS

The [ term from the end of the AR,

5,12,19, ... 173
L1 9& (2] 103
m 1ap 117

A= Ran

If & ABC is an equilateral triangle such that
A LG, then AT —

8.3 ¢ ipc? pYa
4 4 7

(1} A
iz

{2} Band
A and ©

[T AT
{f -2 is a root of the qusdratic equation
- px + &= 0ond xt px k=0

has equal roats, then the value of kis
(1 & {2} 10

3 (40 1%

14

[P ELT T

tetallic spheres of radii 15 om, 20 ¢m, and 25
ein respoctively are melted ta ferm 3 single
sy spherc. Then the radios of the resulfing

sphare g
(L 20 em 12y 25 am
3[30cm | (44 35 om

[Tt L]
If a gni] B are the zeroes of the quadratic

palynomial P{Ij — :,-;2 1 qx —p. then Lhe

1 1,
value of — 4+ s

i

(1 P

(]
p LY
ey X

(2}

N

3]

| an,

d7

=1 n 4% |

A
If Cos El' = —bthnn coset 8+ cotd i ternms of

a2 and b is

1) i 2] ' -
||i:| T-'l I-H"‘I::'
Jh—a H|n—h

3 . (4 [

e L R I

In the adjacent Figure if AB = 10 €m, BC = 12
crmeand AC = 14 ¢m, then AD =

(1§ & om ﬂElllEfr‘n E
{31 7cm 4 & cm

[P TR T

If o« and g are the zeroes of the palynomial
P{x} = vE L 3x + Kk suth
- B = R, thenthe value ol kis

tha:

1] ? 2y -3
13]1-q l (4] 5
B )
i
The sum of 3 number and its reciprocal 1 2 =
“hep the number is
SR fy 2p 4 5
— ot = - or -
] 5 A 4
@ 3 4 (4] 2 3
— or — of 3
4 3 ’*} 2




51 hAatch the item in Column - Twith Column - 11,

.

Caliwmn — i Column

Yoes af ey s

a1 -

Slope ef -aa

B R T R S

Costance Pebwsen ine gty

- . . L
SRR A L 36

{1} A1 B-2 C.3 (Zhin-2, B-3, C-1 |

3 a3 B-1,C2 (4 A-Z, B-1, C-3

(LR 1T TR

Xy Al
Ir i g 5 and L 7. then the value

Xy Xy

of Ly s

m'lj 2 1
| 2

1 4 1
3 &

lmzbr-b) 1

If the paints (A, 2a), [3a, 3a3] and (3, 1} are
collinear then the value of -a' is

2 2
3
.
2 3

Lawrnnd 5

A copper sphere of radiuy 3 omeis nelted and
recast into a right circular cone of heghtl 3 cm,
Then the radius of the base of the cone is

[2F 2 om 2} 4 cm

(A S em {3

cdn=i 161 T

54 From the adjacent figure & ABC, OE ) BC and

, AD— % BD. If BC - 6 em then DE is

A
D E

B L

1) 1.5cm i [Zem |

31 3em 4] 4 cm

ILewiza b 53

. Which of the following statement s not

correct?

h ¢ o, [3 are the zerces of the guadratic
polynomial i e Py 41
cthen ot 4+ @ = 2.

i) the pair of linear eguations
dr + Gy = Bamldr + ky = 13 has
infinitely many solutions, then k= 10.

e tan® + cot@ =75, then
bare 0 + rot?d — 23

(fThe line cosec  GO%x | cog 45°%y =4

passing through the
(tan 607, sec 45%}

point

[T 35 [T T R
. The sclulion of the line eguaton cos
Hx + sin 30¥y — dis

ALz B0, GIC {24/3,0)D. (0,23)

(A [z}

3 Cand Mh & and D

Luwlan-d M-
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If wwo positve integers‘a' and B are

- gyrressible in the form cf

= png and b = '[].2..:["-'I poand q belng
prirne numbers, then LCM (a, bl is
1} Fﬂqa {2 paqﬂ:

% p2g* iay

If AP is a tangent to the circle with centre 'O
such that OP = 4 cm and  ~0OPA = 60°

Tivabn k. 37

them the radios of the circle is

{1 Zem (2l E\E ol
(2) 3 cm i}

(psdnnld 52
20 cards numbered 1, 2, 3 . 20 araputina

box and mixed thoraughly, Qne person draws a
card fram the hox, the probability that the
number on the card is divisible by 2 and 3 hoth
15

i1 1

10
3 1

<

Chssiion ki 50

an
I the mean of first 'n' natwral numbers |5 —
11

then n=
1] o 2 160

{a} 14 12
e 3y ] ()
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HISTORY

Eric. Hobsbawm, a historian, ¢alled the gﬂth

century "the age of extremes”, This is not the
reason for that statement.
(1} Great Depression

(20 Ocourred bwee wiorld wars

(3] Wamen got their right to vote

Match Calurmn - 1 with Column - I and selecx
the correct answer using the codes given below
the colummns,

i k) -

Colurnn —| Colurrn — 1 |
A Bolshawviks 1 hrscol o
g, “denskeviks T Hetler '
C Yagism 3 Lomir
B Fazmism d.  Eerensky

{1} A-1, B-2, C-3, 04 (2] A4, B-3,C-2, 01

(3N A-3, B-4, C-2, -1 4] A-2,B-4,C2 D-1

e o

arrange the following events in chranolegical
order regard to Germany :
i.Proclamation of the Weimar Republic,
i, Hitler becames Chancellor of Gormany.
i, Garmany invades Poland.
v Germany invades the USSR,
(1 m (20 wy, i, i, |
{3} 0, ili, 11, i ) i, i, iLi,
ch-EaL Nl
Which isgnt the main principle of Lnited I
Mations Organidabion ¢
(1] Freserve peace

(2} Uphald hurman righks

(30 Pramote sggial progress
=

L]

Lhxaksl) A

Achieve equality among different countries
I e

. The French were keen to develop Vigtnam as

an exporter of Rice. For this purpose they did
ot adopt this strategy.
{1] |mproving irmgation network

2} Encouraging landlords,

i3

-—

Taken up of land rEfl:lrrn'sJ

{4 Facilitating  marketing  of  agricultural

produce like rice & rubber

ThErma bl RS

i Consider the following statarments .

An 1937 the Mushm Lesgue got only 4.4
percent of the total Rushm votes.

B.Ir 1546 when slectians werg held again for
the prowincial and central assemblies, the
Wuslim League succeeded in winning the
Muslim seals degisively.

CIt was ocourred by sensitive respense of
Congress Party with Muslims.

Which of the statements gien abowe are

currect ?
1] A BEC (21 A & B only
(3} B & Conly 4] & & Conly
hmubmk] 0k

Match Column - | with Column - |1 and select
the correct answer Lsing the codes given below
the columns.

Column —1 Column — 1|
5 Spam L. [ T e
B.  Belgium 2. longo
. Portugal 3. Brazl
0. Bntain 4. Migena

WA, B2 C3, 04) 12 A4, B3, C-2, D1
) A2, B-2,C-1, D-4 (4} A3, B-1 L2, 0-4

w43
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T

in o carrecl
regaid 1o Indian

Arrange  1he following  events
chroralogical order  with
Mabional Movoiment :

A Cuit India Movemeant
B.Three mamber Cabinet Mission came (o
India

C.0Oiract Aeton Day

[.Cripps Mission came o India

it 4,8 C 0 (2} O, C, B A

Which statement is ipcorrect with regard to
"Tebihaga® Mowvernent 7
(1] Thig agitaton was started in Bongal,

(4 A D,B,C

Shnia il M

(2] This movement was led by Frovncial Kissan
Habha,

(BfHigger Landlards
moverment.

—

() This moverncnt about o enancy reforms

Smmnks 5]

In March 1845, the U5 President, Harry

Truman, said 'we have emerged from this war

25 the most powerful nation in the world-the

most powerfu' nation, perhaps, in all history™.

This is ngk reason far this staterment.

(b Infact the Seeond World War helped USA
grove out of its economic misery caused by
the Great Oepression.

{2} Far from the theatres of war, the industries
and agriculture of USA prospered,

{3} This ensured full employment and high
productivity in WS during the Second World
War

= .

(4 Only villages of US4 had been cn-r:r.;:rletel'-,.'l

participated  in thi.».r

destroyed N =
b 0L

rhaukskl )

The “Zullverein” is known as
(L Tax Il}[ Custarms L nign }

(3) Administrative UniaA

(4] Religious Union
Qrakwa 1l

lhe followsng regional military and strategic
albances given balow: is nat related ba U5 A4
(L) MNATOD (21 SEATOQ

T U B

(3 CENTO
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GEQOGRAPHY

% ¥udrermukh is an impertant Iron ore mine of

1} Kerala

g

Tho acean beds arerich in

(2} nMadhya Pradesh
(a4) Andhra Pragosh

LT U F |

11] Iran (21 Sold
3] Copper [ﬂl'r'ﬂanganesel
Whitk of the following s ot trye  with

reference to the climatic conditian required for
the cultivation of rice 7
i 1t requires high terperature i.g. ahove

23 -C.
{20 It requires bigh humidily

(3 It requires annual rainfall above 100 cm,

i"fll ?frequnres 710 Trost free daﬂ

Which of
statement?
. The peninsular plateau s one of the most
ancient land blocks an the earth's surface.

1.0ne of the remarkable features of the
peninsular plateau s black soils formed due to
voloanic aghwity,
1] Only 1 is true

Cueakmnis T

the following = the correct

(2] Only 11 is correct.

{3

—r

I and Il are correct)

4] Land |l are incorrect.

1L an T

T

ra.

k<.

Which of the follewing is not correct regarding
‘let sereams” ?

Illl.let streams develops af about 351- N

(2} These are fast flowing air currents in a
narrow belt in the upper atmosphere.

(3] These causes the neighbouring atmosphare
cool.

() These causes rain from clowds.
Saprh OF
Which of the Rllowing staterments is not truc
regarding Indias climate ?
(L The climate of India is deseribed as the
MOnE00n TYpe.

(21 India's climate has characteristics of bropical
as well as subtrogical climate,

(3} The climate of India is strongly nMuerced
by trade winds.

() The Morth-East monsoons are responsible
for most of the rginfall inndi

herer-H T

™. Which of the fkllowing lakes is a fresh water

lake 7
(] Dal] 12) Puficat
(3 Chilks 4] Sambhar

=i b1 75
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R STt [ Mry grea xob o ngs
oo umpEt A caresls 4 aen Shecama

Which s the correct set ?

11] |.|'-'k-'§-, B-2,C-1, -4} () A-1,B-2, C-3, (-4

{5} A4-2, B 3,C-1, 04 & A4 B3, C-2 061
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Puapulation Change in a place s
[1 i

S Ik

edathy + Mo, of out migrants)

PE——

12} {No. of births - No. of in migrants) - {No. -:::fl
gdeaths « Mo, of QUL migrants]

(3 (Mo of hirths + No. of in migranes] + [MNo. of
tirehs + Mo of out migranis)

(41 [Nex, of hirths - No, of in migrants] - (Mo, of
kirths - Mo, of out migrants)

Cimnlmly -4l

Stakement | - Genslty of population in Morth-
East stales is l2gs due 1o heawy rainfall,
slalement | ; Density of population n Kerala is
high due to flat surface ferble  soil
abundant rainfzll.

11 Both |, 1 are true,

and

(21 Bath |, 11 are false,
13] |istrue, but 11 s false.
41l is false, bur 1l 1 true._l

=] 'R T
Which is correct reparding Rural - Urhan
migration ?
a.Migration  mainly due t3  insufficient

armployment oppartunities in rural areas.
bohgration  does  not necessarily
rnowement of all members of 1he Tarmily,
c.They have greater exposure to new ideds in
oties and try to challenge older notions in
village.

(B ab

inwalve

{2} b, c

= Mone of these

Mkl 11

&,

:le{J of births + No, of in migrants) - {Nu.ﬂ

armgng the following statements, which is not

trug?

(L} The portion of range found sguth of the
areater Himalayas 15 known  as ‘Lagner
Himalayas'

{Z] Himachal range is mainly composed of

highly compressed rocks.

(M T I1E-average elevation of Himachal r:m;gc is 5
about &, 100 mts. above M5L.

[d}

The Pepangal and Mahabharata ranges
form the impartant ranges of the Himachal.

Theimn i 'l



POLITICAL SCIENCE

25 With reference to the Fandamontal Rights,
consider the following staterments
(A ndian Constitution
Fundamental Righis to its citizen
{RIFendamental Rights are absolute and never
wuspended.
which of the staternent/s given above isfare

torract ¥ _—
2A) |J-'I.'ir i

guarantges

(b Botn(A) & [B)

{31 [B) only (4 Neaither (4] Nor {B)
Ilgphe.d B
2 Match Calurmn - Dwith Colormn - 1 and select

the correct answer using the codes given helow
the columns,

Column—1 Column -1l
Political Party State
AL 5A 1. Lttar Pragesr
f. =bkik I Ansamn
. AGP 3. Tarrw Yadh,
g, 3Lk 4. Munjsk

(1t A-1,B-2,C-3,0-4
(3 A-d,B-1,C-32 D1

11}F'L 3, 8-3,C-2, D-1)
(4 A-1, B-3, C-2, 04

Ipm =ikl 1N
a7 which of the following statcment s [Doorrect
regarding with first general elections of India ?

(L) Symbols were introduced.
{2 separaie ballot boxes for each candidate,
3F Massive campalgn to encaurage thp volers,

(a4 JOniy 10% of the p::-pularu:un cum.::l wole i
hat elections ———

With reference to democracy, consider the
following staterments

{Alin a cemocracy, unly leaders elected by
people shauld rule the country.

{B]Peaple have the froedom bo @Xpress vigws,
fresdom to orgarite and freedom to protests.
Which of the statements) piven abere isfare
corect ?

wpothta) 8(8) | 12 (Ajonly
(3t (B] only 4] Methar (A} nor [B]
Observe the map given belt
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Identfy the pointed States  with  their
correspanding Social and Rnwvironment

Movements and select the correct apTicn USINE

the cotdes given below,

{1l A - Marmada Bachao Andolan, B - hilent
valley Moyement, £ - Chipko Movement, D
- Meira Paibi Movernent

3 A - Silent Valley Movement, B- Chipko
Wavernent, © - Marmada Bachag Andolan,
L} - Mera Paibn Mowsment

- Slent Valley r'uh:r'.'_en'lent,- B Narmada |
Hachao Andalan, C  Chipko Movement, D - |/
Meira Paibi Mowvermaont J

e — - =

(4 A -

Bachao

Chipko Mm-ement B- Marmada
Andolan,  €-  Silent  Valley

Wevamert, D - Meira Paibn 8 gvement

Aaabrnd rh



LIRS

» wWhat type of infarmation is pof accessible to

the citizen as per BT ?

1} The manner of cxecutions of subsidy
prograrmmes, including amaounts allocated.

[2) The particulars of its organization, funetions |
and duties.

{13} The powers and duties of its officers and |
emiphoy e ps.

(4] Enu:l_;'.lnger the life or physical safoty of a%
[person T

ez b

. Obszerye the given Logo and answer the

rueslign.

/N\DY
N /4

This “Logo’ represenls [

1] United Mations drgamsation
{2t United Mations Children’s Tund

(3 United Wation Educational, Scienhfic and
Cultural Qrganisation |

{418 nited Mations Human Rights CDF‘ImiES'IUT'E

Whick of the following statement is correct |

regarding with "Colation Government® ? '

1] Power shared among different organisations
of Governmenk.

[2) Fowor shared  among  Governments 3t
ditferent levels,

S

AfPower shared by Lwe ar more pc}lil‘icall
parties, I

(41 Power shared by different social groups.
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ECONOMICS

¥, For calgulating Body Mass Index [EMI), weight
of the person is divided by the
(1} 5g uare -::lf the weight

(2 ] ||uz|r'e ot the hﬂlght—?
'[.'ﬂ Cquare root of The heght

(4 Square of the swm of height and weght

Cipnhank, A1
4. In the rural areas, the unorganised secior
mostly comprises of
(il Landless agricultural labaurer.
I} Garment makears.
[iii} Street wongors.
(i) Sharecrappers and artisans
(1) {i) and (i} {2} 1) and (iii)
i3} [iii) and [iv} MJ'[I:'and liVl_.li
— Queslion|d: 94
o5 Terms of credit dees not include
1] Interest rate (20 Collateral
ﬂi{[heque g
(4 Mode of repayment
H Pl T -3
wi. Choose the wrong pan from given below

(wifPer capitaincame - Warld Bark |

i) Homan Development Inggx - UNDP

{3} Percapita income US 5 12,600 and above -
rich counkrigs.

M Per capita income US 5 1,035 and above -
e couantries

raa=rmild b

a7 which of the following are correct regarding
WO ?
(i main aim s te liberalise international
trada,
fijit was started at the initiatiee of the
developed sountries.
iiiyTha rules of WTO are framed to favour the
devaloping counkrias.
(iv]Il establishes rules regarding international
tl-::l:]E'

1 [only £, {il) and +d (v V2 Gnly i) and fun)

13) Ordy fiiiyand [w) 18] Alofthese

Which of the followmmg methods can be used by
the government for 3 fair plobalisation ?
(ijirmpose tracde barriers.

linegotiate at the WTO for fairer rules,
Jiiijalign with other developing countries
[1]close its market for foreign rade.

1% Qinly di) and (i) 12} Oinly fiip and (1w}

Eillﬂnlﬁ,- (il (i and (i) kﬂl All of these
CLrm by B

Which of the following 1 not correck relating to

service sector #

{1} all service sectar achvilies are not growing
enually well,

[2} Service secter in lndia employs many

different kinds of peaple.

i3] 7%% of people are enpaped in service
SECLOr,

a1 all the people who emplu-,.red in service
sector ara earning high meome.

pas h n b T=



Wi AWhich of the following s not a leawre aof
libz=alisation 7
a.Busiresses are allowed to make decisions
freely about what they wish o mport or
Expart.
b.Government  rermoves  restrictions  frem
foreign trade,
. MINC3 are allowed to wuark in the country.
d.t estabhshes rules regardmg international
trace,
(1) Cnlya, b, d 2h Drly by, ¢

HJIDnI-,,-' % E | (41 All of these |

Caegan g 0N
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